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10.2 Notes: Solving Two Step Equations

What steps were done to “x” to turn it into “5x + 2"?

X What steps do you think you
mul C 3 a\wide would need to do to turn
hply 5y

5x + 2 back into an X ?

i ( " isolode the Voriable"
acd ) sublvact ©) get rid o conshant

“‘&(m

Practice: € %2}\' ctd 0# CDB{‘F\‘CI&TL'.

What steps are needed to turn each of the following back into x?

Bx +2

3x -4 2x + 7 -5x + 2 H-2x
+4 -+ -2 -4
=3 <A >-5 1.2

Solving Two Step Equations

Solving an equation means:

_ undo ol steps ond
Follow the reverse order of operations .
to isolate the variable on one side \sgloke, Nowur varidde .

- WSe, cevesse o<der 0‘@

y _ 4 sperodions .
What steps were done to turn one
line into the next line?

5x = 20 How would you go backwards and
turn the last line back into the first
line?
5x +2 = 22
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Examples: Solve each equation in two steps using reverse BEDMAS

X+4=7 3x-2=13 5x+2 =27
-y IR S -2 -2
x =3 3% = 15 Sx = 23
2 3 5 5
!‘}Cs 5‘ X 3 5
5x +3 =13 6x +5=17 2x -8=12
3 13 5 -5 +8 +8
8x = \0 6% = L 2% =20
Sx 16 bx _n 2x .20
5 ° 3 6 6 = 2
ED) ) X =|D
L R e =Y Simii=43
24 Hw=\4 Nz —2scal 12> 1¥3Sx
-2 -2 -\ - -1 -\
Hy = | ) =
X = IX 0= -2x 1 Sx
N 2 5
4 10 S B
‘X‘= E) 2 -2 ( 1
= (24 = ]
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“istleke Voviable g:,’r vid 6# Constont -ﬁrd;

-X+3=6 7-x=2
3 -3 + -3
- 3 '5 - = _5
~
QM& - _ _§_ / oY ~ g
sip - -1 o004
x= D
X = -3 X '-'-S
-4 +3x =11 4-2x=-2
+ +4 -4 -4 2+ -4
3x:\5 -AX =T -
> 5 -Ax -6
3 3 2 3
X':.S
\* =3

Anna is holding a dance, and charges everybody $5, except for Alvin, who gets a
discount and is only charged $2. If she collected $&, how many people (other
than Alvin) attended the dance? Make up an equation and solve, showing all work.

et x = PQ,QT&Q, O'H'\Or Yhon Alvin. P 285
#3573, 9-18

Sx -I-Q\ = 581

"")_ 2 TqV,\s o +wo 6‘1-2.?
5x =+ 585 cuotons on Mondoy,
X = S__8_1500 \
= S Phece, oue IWF peope

oYhee Honn Alin,



